Ql ~§ce V 7
0 +fcost At L/ﬁ

L On 2=\ wace have

-~

Cos#= £ 4 =24 27
2 2
dz=iei%p=siz d4
dé+= | J=
. iE
%S»dﬁ:" =g . dz
o (8xHost iz, JZLI0+H222")

dz

= |
S;zlzt.}:( loz+Y 2})‘1)
= 1 Az
Jii=t 4 Z(Zilfs,l'{'z) R

=§ 2l dz
reze i20 2241) (24 2)
=214 24_5( ‘S:_,:ZL)

. : IE‘ :; — - .il—l == 3
i2
=1.

3




g “m) de,  z=e'®

2 presk dz2=ie'tde = L zde I
» 16 «42.0- L oy 8 o 7 |
= (os262 C7 W =B +Z |, (050= =g Pt o2y z” I
2 2. 2 7

%S""'_C_o_s_zg, 4#—6 1 22"  J= |
s L(est 2131 2‘2(2+-Z"‘Zx)
55, Zwa . Jz
by a(PZ++ 24 |)
=S 1+2*  de |
jsy 42 (2 P ) | i
Sulve Zl-\'?_z_..y& =0

= 2=-4x {4 =-2¢J3
2

:98”:»5{24«) Ad&= S | ¢+ 2 A2 |
o 23-(ss 1Zio0 i22(z42-43 )(zsz‘ ) =

Res($10)= L d J4z2¥ =L (2ivfan)ia™ (l+z"1j___z—+lt)
250 d& (g preyl) F70  j(2Hmmrl)”
et

— -

A

Resl £ - 2433)= _LL(;L*_&__ f
ATRED \r&‘

= S"’Mdﬁ.z ~§re 14T .
o L¥toslt) 3



